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15P/201/30 {i)
No. of Questions : 150
Wl Wi WEAT : 150

1
Time : 25 Hours Full Marks : 450

A ; 2% U2 | qUE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark wil! be awarded for each unattempted
guestion.

HAMIFNE F99 1 BT FIA N TAST BT | G0 99 3 (F)
Hnl & B G&w TAO GOC B T §F Siw ey
TR STTHId 9E @7 OTEE g el |

(2) If more than one allernative answers scem to be approximate to
the correct answer, choose the closest cne.

el JoT & |
01. Genetic industry includes ;
(1} Agriculture (2) Fishing
(3) Hunting (4) Mining
Sifess IEeT & wftufes dar &
(1) %Y (2) HBHA! IEHESHT
(3) TSTEETT AT (4} &
02. Industry creates :
(1) Time utility (2) Form utility
(3] Place utility f4) Possession utility

3 P.T.O.
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05,

T GRA HET §

(1) ¥mg S (2] HT&SY I9EEET

(3) wE IGHE (4) «Afeae o=
Which of the following is a social objective of business ?

(1} [nnovation {2) Employment generation
(3) Profit generation (4] Risk management
Frfufiga # & =@ = HHH 35399 H-a1 8 7
(1) HAGTEY (2) T g4

(3} w9 gad (4) “NEH g5=94

Which of the following statements is true ?

(1} A partnership firm has separaie legal existence.
(2) A partnership firm is a person in the eye of law.
(3) A partnership firm is a charitable institution.

{4) A partnership firm is a profit making organisation.

Fyifarfera su=t & & H9-ar gt & °?

(1) SEEr wH @l gqus Jenfas eifeam are 2
2) el wH wmeE # T ¥ oF i B
(3) WEETH FH B e EHeEm ¥

(4) =Sl T aMe W are WTed 8

Uncertain span of life is a feature of :

{1} Public company {2} Co-operative enterprise
(3) Sole proprietorship {4} Prnivate company
arffyee Masr e o aEer B o

(1) wHES FIH @ (2) W I @

(3) CFER T w5 (4) = g @
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06. A business cannot exist without :

07.

08.

(1} Government (2} Competitor

{3) Customer (4) Bark

Hig N FgEE Afm § FE€ @ Fwar © R

(1) BHR & (2) ufaEsEt 3

(3} TEF F 4 Hp F

Which of the fellowing is mot a feature of partnership ?
(1) Unlimited liability (2) Direct motivation
(3] Mutual agency (4) Utmost good faith
Fr=forfae & & ta-ar arderd & omror wdf & 7

(1} or=ifm =g (2) T AFHLTom
(3) dvwafte WIRERTo (4) 907 wafasam™
Which of the following is mot a feature of company ?

(1) Artificial person (2) Voluntary association
(3] Separate existence (4) Secrecy
Freefefag & & P97 o o weor T & 2

(1) FEM = (2) uftmw d@g

{3) 9euF Ao (4) TR

The principle 'One-man-one-vote” applies to :

(1) Government Company (2) Public company
(3) Co-operative Enterprise (4) Partnership Firm

5 P.T.O.
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(1) | @Al A (2) ®EwATE T H

(3) GEHIE IUFHA H . (4} QrEE w1 "
10. “He owns all and risks all". This is related to:

(11 Co-operative society (2) Sole Proprietorship

(3} Active partner (4} Special Partner

‘o T R Al ¥ aen ST Sihag ISR ¥ 98
H"ﬂﬁ'ﬂﬁ%: '

(1} sl aid | (2) T @i 8

3 A T o 14y 9w A@EEr |
11. Which of the following comes under partial consclidation ?

(1} Trust (2} Pool

(3) Carte! (4} Trade association

Frenfafaa 8 ¥ BA-F7 ofifae d99 & aRria o 8 7

(1) =¥ (2) 9=

{(3) WA C 4 sgIT EH™

12. Service combination is also called :

(1) Diagonal cumbinatic—n 2] Circular caombination
(3} Lateral comhination (4) Mixed combination
ar |G F OHHT AR B

(1) Fereitg o= (2) =B HIA

(3) wred d@qre 4y Mafym dde
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15.

i6.
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A.C.C. is an example of :
(1) Process combinaticn (2} Horizontal combination
(3) Allied combination {4} Vertical combination

g .. O Iemeee B o

(1) ofear 9= (2) . A Gae= @
(3) = HHTT T (4) <if G F
Holding company, first of all, came into existence in :

(1) Usa 2} UK.

(3) Germany {4) France

gAgl} F wEuem st and

(1) g.og.a.¥d (2 I.%. 4

(3) wrHAT & @) wa

“Management treatg him the man of workers while workers treat him
the man of management" . it is said for :

(1} Managing Director (2] Director
(3} Manager (4] Supervisor

‘T IH ATHeRl T el gwern 2 SR afhe a9 gEer @
HAEH) AT B 9T e AW R

(1) Ha-9 T9TE & &g (2) wearE $ fam

(3) mEFeEs % ferg (4) UhderR & fang

Where the consent of both the parties is given by mistake the contract
is ?

(1) VYoid (2] Valid
(3} Voidable (4) Illegal

7 P.T.O.
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17.

3 & qERRT & HEel e @ gre @ o o wenfy §

(1) 4 | (2) faEER
13} gt 4) faRmTg
In a contract of guarantee, there are :
(1) One Contract (2] Two Contracts
(3) Three Contracts (4] Four Contracts
sferafr o wiferer 7 291 ¥ -
(1) ush dfear (2) @ dfaEd
(3) @9 dfasd (4) =T Ay

1B.

A without B's authority Let-cuts his residential bungalow to C.
Afterwords B accepts rent of the bungalow from C. It is an agency
created by !

(1) Holding out (2) Estoppel
(3) Ratification {4) Necessity

F fam 3 & WEFR B § 1 EEg ST § ® oS a7 dar )
qOEIAE 39 S99 B fFoar @ @ I TR A & ) 98 ST
gfera R B

{1} A9 BT (2) RBEg g
{3y TgEHEST AN (4) STELIHAT &

19. The principle that no one shall be allowed to enrich himself at the

expense of another in known as :
(1) Quantum Meruit (2) Nudum Pactum

(3) Quasi-Contract (4) Quantum Valebant
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21.

23.
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wﬁmﬁaﬁ;ﬂ?aﬁwﬁﬁsﬁgﬂ%a&aﬁnﬂwwmﬁzﬁr
Al 78 &, e &

(1) e sm Io am C(2) 9freE g
(3} wREr-weg 4 THETER @

A voidable contract is one which ?

(1} Can be enforced at the optien of aggrieved party.
{(2) Can be enforced at the option of both the parties.
(3) Can not be enforced in a court of Law.

(4] Courts prohibit.

T RN Hiasr 92 B oSy B -

£1) aﬁmuw%ﬁmwwﬁﬁﬂmﬂm%l
(2) ﬂﬁmﬁ%ﬁﬁqwmﬁaaﬁmﬂaﬁﬁél
(3) = o wafds @t o wwf B

(4] HEwEE g AR e ol B

In case of void agreements the collateral agreements are ;

(1) Void (2) Voidable

(3} Valid (4) Unenforeeable
THA w0 F 7@ F 308 g qfdas s -

(1) = &1 B (2) iy B ¥
3) Ffim &3 &) (4) otgaditg B B

Which one of the following statements is not cotrect as regards to
bailment ?

(1) Delivery of goods for same purpose.,

{2} Return of goods after the purpose is accomplished.
(3) Goods must be movable property. C

(4) The owner maintains the control over property.

9 P.T.O,
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23.

24.

ﬁmﬁﬁiﬁﬁﬁﬁ?-mmmmﬁm%ﬁﬁﬂﬁqﬁ%?
(1} fpdl Seew & fem W 1 AREH

(2) @utzg‘raﬁwwmgﬂzm
{S:mﬁﬁﬂqmﬁrma@ﬁ '

(4] mﬁaﬁraarﬁtwq?-mﬁﬁawmm%

Uniess the Articles provide for a large number, the quorum for a
general meeting flor a public limited company is :

(1) 1/3 of the members

{2) Five members personally present

(3) Two members

{4) Seven members

S o T el # oftes wEar #1 qEd A 8, 06 e
v R ol ETTTer @ TR @ o

(1) Tl @ 173 AT

(2) 5 @ewE w sien IR e

(3) 2 H3H

(4) 7 G<EE

Which one of the following required ordinary resolution ?
(1) To change the name of the company

(2} To alter the articles of association

(3) To reduce the share capital

(4) To declare dividends

Fregfofaa i 4 Feas g e g6y TEsds & 7
(1) & & A9 % 9= % R

@) @ & awatignt § afRgda B R

(3) AT B StedEl e B 6

(4) R T arHieT SifeT wE & [

10
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A "statement in lieu of prospectus” must be filed before the allotment
of the shares with the Registrar of Companies by :

(1} A private company
(2) A guarantee company
(3) A public company which issues the prespectus to the public

{4) A public company which does not issue the prospectus to the
public.

‘O @ aSad # I o FE & RN S 9 s §
(1) Y=RdE = amq .
(2) MTEr FA 7w
(3} %mﬁqﬁmwﬁamﬁﬁﬁa?ﬂwa&mﬁmmﬂaﬂ?ﬁ
|

(4] %ﬂf?cﬁaﬁmﬁrawa‘rﬁﬁwwmﬁmwﬂaﬁ
g > |

Dividend can be declared out of

(1) Capital Reserve

(2) Revaluation Reserve

{3) Debenture Redemption reserve

(4] Earlier vears reserve created out of prefits and brought forward

i AT Rer om wem B

(1) g d==a 7 §

(2] TMwaia= Oeg F 4

(3) =HU9H SMew wog 7 J .

(3) I a9 & A st B i g ol B v wem A

27. The charler of a company is its

(1) Articles of Association

(2] Prospectus

(3) Statement in lieu of prospectus
(4) Memorandum of Association

11 P.T.O.
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28.

29.

30.

HOA F =JET g, 39S °

(1) HER & FAHEH

(2) sfEETr o

(3) afageer 9= & sy @FEver 9
(4) FO & o FEr e

A company may issue shares :

(1) At discount " 2) At premium

(3) At par (4] Any of the above

wh el & siEl @ Reier BR ST oW

(1) & 9 (2) Tfraw 9T

(3) @I I (4;_at|’€r':-laﬁ%ﬁﬁﬁ':rtﬁr
Allotment of shares is made by :

(1) Registrar ta the issue (2) Share Transfer agent

(3) Board of Directors - (4) Fund Managers

Sigh Hr awded FRAT TN HRAT & ° .

(1) Frma g s o (2) @isT SF=TCer sidERAT
(3} Frisms A29 &@a (4} W wEER ara

The minimum number of members in a private company and public
company are :

{1} Three and seven respectively (2} Twa and seven respectively
(3) Two and nine respectively (4) None of the above

o% ursde oI ws aftme FOE a9 & e aEeEl St gaas '
gt =nfeq -

(1) @\ 99 o | 2y HEY: R AR m
(3) e & e A (a) Sodea § & = T

12
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Factoring means .....,

{1} Collecting the receivables and remitting to the seller.

{2) Purchasing and/or administering the recewabics of a concern
(3) Fmancmg against bills receivables

{4} Financing invoices without recourse

FFIET o T ¥

(1} 9T Qs &A1 iR Bsar +1 gfgn

(2) W & ONT HY F AT T/HET GTET FH T
@) T & & RBew (RAwiaa) s gem s

(4] dmHt & et fasr (Redom) T = s

Who is the custodian of monetary reserves in India ?

{1) RBI (2) SBI
(3] NABARD (4) IFC
owa A AEw By w5 e S 27
(1) o7 & o (2) wg &t amE
(3) =ATETE (4) 8 oF oG

A rate at which banks borrow rupees from the RBI and reduction in it
will help banks to get more money at a cheaper rate :

(1) Liquidity rate (2) Discount rate
(3) Repo rate (4) CRR

ﬁnﬂmﬁﬁmﬁaﬁ%wm%ﬁtaﬁﬁm%%aﬁ
FEaE el 8 &% 9T arftes mEr o §

(1) e & P rrad g

(3) It 8¢ (4) "o HANo Mo

13 P.T.O.
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34. Land Development Bank was started first of all in :

(1) Delh (2} Chennai (3] Mumbai (4) Gurgaon

ﬁmﬂﬁﬁhﬁaﬁmﬁiﬁmﬁqﬁaﬁrWﬂ@nm?

() T (2) % (3) TE (4) T
a5. Who was First Governor of Reserve Bank of India ?

(1) A.B.A. Smith (2) K.A. Narasimham

(3) V.K. Malhotra (4] A.K Vadia

g Rl &% & aeH TEAl B q 7

(1) Todtotlo RHY (2] @oUo TIHEN

(3) dlodo HERET (4] ToFio TAITEN

36. EXIM Bank is owned by :
{1} Financial Institutions
(2) Gevernment of India and RBI jointly
(3) RBI and selected commercial Banks jointly
(4} Fully owned by Government of India.

s Frata e @ wiEa wE ¥ o

q) facda dend | . '
(zywwﬁmﬂﬁﬁﬁ%ﬁgﬁmﬁ
(3]ﬂmﬁaﬁﬁé%aﬁgﬁmaﬁm%ﬁgﬁwﬁ
(4) R THT F IO @i

37. The first development financial institution of Indiz was :
(1) ICICI (2) UT (31 1¥CI (4) 1DBl
e @ uEe B s e o |
1y s otflonEotiomEo (2) HoFoIEo
(3) FEoumoHlodRe (4) STEcElodlodHo

14
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39.

40.

41.
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Which of the rate is not determined by RBI ?

(1) Bank Rate ([2) PLR (3} SLR {4} CRR
mﬁwﬁﬁé%mﬁ?—mﬂﬁmﬁaﬁﬁﬁmw%?
(1) &% =T ' 2 & o ey

(3] T um X (4) T T S

Which fiancial body prepared the draft of the IFC 7

(1} World Bank {2) IMF (3) RBI (4) ADB
- R der & R UG H F avg-ag F J9 e ?
(1) Fasa ¥ (2) 3E.0q.u%.

(3) 3T & e 4 v & S

Which of the following bodies are of IMF 2

(1) Managing Director (2) Alternate Governor

(3] Board of Governors (4) Executive Board

Pt & & Fr-d deendt B .onos. H T 7

(1) T= FSaen (2) Y AT

(3) TIFHIT BT qu=w (4} HIEHIIOT TUEq

If all the banks irr an economy are nationalised and converted into a
monopoly bank, the total deposits :

(1) Will be Zero

(2) Will decrease

(3) Will increase

(4] Will neither increase nor decrease

ﬂﬁﬁﬁﬂﬂ?ﬁﬁﬂﬁ%%éﬁﬁﬁﬁﬂ?ﬁiﬂﬁlﬂ%_
7 e A at g s

(1) 9 & SIEew [2) e STRAT
(3) =& wErm (4) = =@M, = "M

18 P.T.0.
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42, To join IFC a cauntry must first be the member of :
(1) ADB (2) IBRD (31 IDA (4] IMF

%%ﬂﬂ@i.@.ﬁﬁaﬁqﬁm@%@rgﬁ....mwm
Frfrart @ -

() @ E A 2) g & T =
3y 3 (4) FE 0H TH

43. Which bank has introduced " Pre-paid card"” first ?
(1) OBC (2) Corporation Bank
(3) SBI (4) BOB.
"gﬂaﬂzﬁr—é”mﬁqﬁ%m%%mfﬁm?
(1) & & & (2) FBRERIE FF
(3) TH &t IR @) #r o &

44. Which one of the following statements is incorrect ?
(1) The IFCI is the first Universal Bank in India
(2) NSDL is the institute, which is built by 1DBI
(3) LIC was founded in 1956
(4) Insurance is the collective bearing of risk

frer # | HW-G1 0F F A B 7

(1) o umh & od wrew F muw A ¥ @

(2) o oF @ oF a5 Hen 3, @ o @1 @ o F9E @
(3] S & B @ enear 1956 H g0 A

(4) o Hfaw W AfeE 98T ¥

48, Associate institutions of IBRD are :
{1} IMF and ADDB {2) DA

(3) IFC. . {4) 1DA and IFC

16
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FE & AT AN T gEE §= B
(1) RO AT HH (2 s &t
3) o€ oF = 4) I & ¢ iR 9 aw |

The average of three numbers is 135. The largest number is 180 and
the difference of the other two in 25. The smallest number is ;

e sist &1 ofraa 135 B | ga@ 21 WA 180 30T A Y # I
25 | B e B o

(1] 130 (2) 125 (3} 120 . {4) 100

The average marks in English subject of a class of 24 students is 56.
If the marks of three students were miss read as 44,45 and 61 of the
actual marks 48,59 and 67 respectively, then what would be the correct
average ?

o HET F 24 BIEr &1 oIt RBrea wr ofme 56 &) aft = =t
& Wkl ol FAI: 48,59 U 67 o SIE HH: 44,45 AT 61 T
qgT mar &, & e gt ofraa = ebem v

(1) 56 (2) 57 (3) 58 (4) 39

Which one of the following is correctly matched ?
(1) Ddata - A collection of abjects
{2) Mode - A well defined measure

(3] Range - Difference between the largest and the smallest items

of a data set.

{4) Quartile Deviation - A best measure of dispersion.

17 P.T.0.
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(1) =TeT - 3Ig9dl HT 908
2) ¥e- uF = geE qieamige a=

(3) IS - OF =TET HUE F AETH UF FgAAH F A AR
(4) =guls ReeH - $omE w5 oF q99 TS 9uE

49, Population in millions :
City Total Population Male Population

A 12 6.5
B 15 7.2
C 17 9.0
D 19 9.9
E 22 10.8
What is the averape female population in million ?
(1} 8.32 (2} 8.23 (3) 8.68 4) B.86

e oy H
ET FH TEEA TEY B oHEEAr

H 12 6.5

T 15 7.2

q 17 9.0

T 19 9.9

g 22 108
A widen SEET (are ) F1 7

(1) B.32 2) 8.23 3] B.68 (4) 8.86

18
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50. Person Salary in ¥ lakhs

A 8.5
B 7.6
C 12.8
D 5.9
E 10.5

What is the difference (in T lakhs) between the average salary and
the lowest salary ?

(1} 2.65 (2 4.2 (3) 3.56 (4} 3.65
=ufa g o ¥ A

N 8.5

g 7.6

| 12.8

S 5.4

q 10.5
waﬁﬂaﬂ?aﬁﬂﬁaﬂaﬁ(ﬁnﬁﬁoﬂ)wmﬁ?
(1) 2.65 @) 4.2 (3) 3.56 {4) 3.65

51. The average marks obtained by Kapil in seven subject are 75. If after
re-evaluation average marks in all the seven subject changed to 82.
How many marks were increased overall ?

art s & e @ ofrae oiw 75 B aft g g B e wwl
Pra a7 ofrea i afvaRia erR 82 B o ¥ 1wl Rt & e
frad 37 =8 |

(1) 57 (2y 55 (3) 51 (4) 49

19 P.T.0.
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Eal

The following given the data regarding accidents occurring during a
certain period :
Number of accidents Frequency
i9
22
31
9
3
2
On how many days three or less accidents occurred ?
(1} 14 (2} 41 (3) 62 4] 72
% Fivee sEfy & g gdem @ srer Rraifee & -
gdeTT & e srgfa :

Lo 10E F : J N  J N Qe

1 19
2 22
3 3l
4 g
5 3
6 2
T W sEd FA ogde fre R ufa gt ?
(1) 14 (2) 41 (3] 62 (4] 72

The foilowing table given the distribution of students accarding to
the marks obtained in a paper : :

Marks Numbeor of students
Below 10 15

Below 20 38

Below 30 65

Below 40 84

Below 50 100

What is the number of students getting 30 or more than 30 marks ?

() 35 (2) 43 (3) 50 (4] 184

20
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gﬁ'&wﬁﬁmmaﬁmﬁmﬁmﬁmaﬁﬂw

& ' BEl W G

108 &9 15

20 @ & 38

308 FH 65

409 FH 84

509 FH 100

30 T 30 ¥ Aftes I 9 av BT S SEEr F49r B oo
{1) 35 (2) 43 (3) 50 (4) 184

The arithmetic mean and harmonic mean are 64 and 49 respectively.
The geometric mean is !

AT AT OF B AT WESE 64 IfIT 49 B T
" BN

(1) 60.0 (2) 56.5 (3) 56.0 (4) 55.0

Which of the following is the mathematical property of mean ?
(1) The sum of deviation from mean is zero

(2} It has the maximum sampling stability

(3) Its computation is bas~d on all the observation

(4) [t is simple to understand

s # |/ 9 wreg A oty fadwer (sreet) ® 7
(1) A | Rraes T amm s &
(2) IE Afrsan uRrest Rercar e B
(3) @it widEet & AR 9T FEAH O F OSRA B

(4) TE GEHA ¥ Tew oy B

21 P.T.O.
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56.

87.

Which of the following is a unit free number ?

(1) Standard deviation (2) Variance

(3) Mean deviation (4) Coefficient of variation
Prfafaa § & #9 gid g0 we & 7

{1] Wk fgae— (2) wETOT

(3) #red fe=re (4) TN @ gfteds

Find the coefficient of vanation, if the sum of squares of the deviation
of 100 observations taken from mean 50 is 2500 :

100 gfdest & wrer 50 & Raem $ w5 A 2500 8, @1 TonE
& gftads = #@ w4

(1) 50 2] 25 (3} 10 (4) 05

¥ = 10, o = 3.5. All the observations increased by 5 would give the
result :

x-mangsqﬁ{aﬁnﬁwﬁeﬁrswﬁmm%ﬁrm
g 2R

(1) % =10,0=8.5 2} %=10,0=35
@) %=1506=35 4 % =15 c=85
The range includes :

(1) 100% of the items (2) 50% of the items
(3] 25% of the items (4) 10% of the items
™ H uividg 8

{1} OTE=Ht HT 100% (2) WA T 50%
(3] oTEESt @ 25%  (4) EEH! | O10%
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60.

61.

62.

63.

15P/201/30{i)

The standard deviation of a set of 50 iten{s is 10, Find the standard
deviation if each item is multiplied by 2 :

50 3TEEHl B AT & HFH F9EH 10 &) o o amgeT B 2 §
TN L A AEE e e o

(1 5 (2) 10 (3) 12 4) 20

When the demand curve is rectangular hyperbola, is represents ?
(1) Unit elasticity of demand (2) Perfectly inelastic demand

(3) Perfectly elastic demand (4] Relatively elastic demand

5.Cl 1:|"'|1'|' T MEATRIT Afuasa t‘:ﬂ', E?T =L E | E‘rﬁt % :

(1) FHI% A== AT (2] goie: ST S
(3) goie: dEER HET (4] TUH =R =T
Cobweb theorem is an example of :

(1} Static equilibrium {2) Partial equilibrium
{3} General equilibrium (4) Dynamic equilibrium
FEIAY FHY I §

(1) w&ferer &g # (2) STiidE 9P &

(3) WD ®Y & (4) wATeE €@

Marginal utility is equal to :

(1) Taotal utility minus average utility

(2) Addition to total utility

(3) Total utility divided by number of units conserved
(4) Total utility plus average utility

33 P.T.O.
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65,

AT IuEifer axET et #

(1) - JgsE g gt

(2 e I ¥ gie

(3] F[H IYAFET F IOART At T ATgST A dEAwm § 9w
(4 T SuAtEr < ol uhif

Consumer's surplus is highest in the case of :

(1) Necessities (2) Comforts

{3) Luxuries (4) None of the above
JoAEFT A 99a it Bl ¥ -

(1) meews Tegsit # (2) SRMREF Fegalt J

(3) Frenfeer awgsit # (4) Jodwer F F I A
When the dernand curve is vertical, is represents ?

(1) Perfectly elastic demand (2) Highly elastic demand

(3) Unit elastic demand (4) Perfectly inelastic demand

T AT g% wWd Y &, &Y g% =Ea w5 b
(1) gofaar @=eEre w5 (2) Hafes Megr wig
(3) ¥ # =T AreER =5 4)  yefaar fWraER |

An upword shift of the preduction possibility curve indicates :
(1) Ovwer full employment (2} QOver production
{3) Economic growth (4) Inflation



87,

68.

69,
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I HAGAT aF 1 FIT B 3T WAy 57T Hedl § -

(1) ARget Terme 2] Ay SaEe

(3) onfdE fmm (4] Iy

The Engel curve for & giffin goad is :

(1) Negatively sloped (2) Positively sloped
(3) Horizontally parallel [4) Vertigal

i aeged & ™ Oow am S B

(1) EOTHF F ail {2) TS B gTer
(3) Bfyw ey $ gAY (4) =R

An indifference curve is :
(1) Concave to the origin (2] Convex to the origin

(3) Vertical (4) Haorizontal

U Oee] 9% BT 8 !
(1) 79 g & == (2) 79 farg & S=RT
(3) IA 4) Bfaw

What the price of an 'inferior good' falls ?

(1) Income effect is negative while substitution effect is positive

(2) Income effect is positive while be substitution effect in negative
(3) Both income and substitution effects are postitive

{4) Both income and substitution effects are negative

25 P.T.O.
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70.

71.

W@mwﬂaﬁﬂﬁaﬁﬂﬁﬁﬁﬁ%ﬁr:
(1) ST T OIS BT & wafh Sieeas SHE e 2 B
2) AT TS S ST B oEin AT S6E OIS BRT 6
(3) oG T SR geE W e 81 8
(@) oI T ufEeIgE guE ANl sE® B §

Which of the following is the basic assumptions of cardinal utility
appreach ?

{1} Utility is a measurable and quantitiable entity

(2) Marginal utility of money changes with changes in real income

(3) Utility derived from various goods are inter dependence

(4] One cannot use introspective method in judguing the behaviour
of marginal utility.

TR YAt R A gEsE A @ @ 7

(1) Iufer "o o SiEEg 9 7

@) #Er A dWra SRR anatam e ® oqitEedal # g
qfvafda def &

(3) RfdF aegell ¥ = ST stk gl B

(4) dmra I & sEe & gawa #§ {9 Ao 9w
=l I9GPT §Ha T8 B

A market in which differentiated products are seld is termed as ?
(1) Perfect competition (2] Imperfect competition

{2] Monopoliotic competition (4) Oligopoly

26
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73.

T4l

15P/201/30(i)

F I Brad e awgd < ot & weart B
(1) get afe=fra (2) 7gef aferdifrer
(3) QEIeERTE g (4]  ATIIEERIT

Charging difference price in different markets is called -
(1) price discrimination

(2) perfect price discrimination

(3} second degree price discrimination

(4] third degree price discrimination

=1 ARt 8 =1 $ma ag@ e @sarar o
(1) e Ry

(2) oot Fme AR

(3) e Ao @ Bwe AdEeETr

(4 geita A 1 pme faadesTe

A demand curve, which is parallel to the horizontal axis (showing
quantity}, has price elasticity equal to :

(1) Zero (2] Infinicy
(3} Less than one (4] One

%ﬁﬁﬁm,ﬁﬁﬂﬁﬁw%ﬁwﬁ(waﬁﬁ%},aﬁmﬁ@a

(1) = (2) 99
(3) TE & FH 4 uE

Which of the foliowing is net relevance in case of Sweezi's oligopoly
model ?

(1} A price cut by a firm is followed by the price cut by the rival firm
{2) Price hike is not followed by the rival firms

(3) Firms do not react to price change made by one of the firms

(4) Firms react to all kinds of price changes made by the rival.

27 P.T.O.
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75.

76.

=Hf % oeqiue dew § et § | -9 G T6 ¥ 7
(1] m B ET dEe o SERN @ gioeqdi ®H ' seeEr S
12y FEa 7 sgad S afeeedt o grr [ v

(3) Rt us W ZRr B TR a oftgds R et & s | e
(@) st ERr w9 e F HHa IREH R A T SRR g

An economic region of production consists of :

(1) The positively sloped portions of all isoquants
12} The negatively sioped portions of all isoquants
(3) The middle of all isoquants

(4) The highest point of all isoquants

e & el & 7 wfaRe ®
(1) AW §9-IwE THf & 9ATE dad AT
) T GH-IE TR B OIS e0d W
(3) @M HW-IGIE gWl § A AT
(4) ©¥f A9-IWE T B IemoH @y

In case of profit prior to incorporation the Gross profit is apportioned

between pre-incorporation and post-incorporation periods on the basis
of :

(1) Respective sales ratio

(2) Respective purchase ratio

(3) Respective expenses ratio

(4) Respective Return inward and Return outward ratio

FAME & 94 5 THd AW 1 aNgeT 99 g o 9y ®Hies
% dre PR s ¥ R omar & 7

(1) Rerg s1guUE d
(2) &9 A9 |
(3) AT FIE H

(4) Ferg aradt it @y argd) et H

28
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78.

79.

15P/201/304i)

Loss Prior to incorporation Accout is shown under :
(1} Miscellanecus expenditure in profit and loss account
(2] Miscellaneous expenditure on the asset side of the Balance sheet.

(3) Miscellaneous expenditure on the asset side of the Balance sheet
to the extent not written off

(4) Miscellaneous expenditure as in the putnote below the Balance
sheet.

TAfEE & gd 3 s B Peas ofeva Ramar srar &
(1) sH-g ana ¥ ARy =y

(2) onRfes faed & wufer gwr # ARy ==

(3) ol Fred & wufa ust & svofoflga & 9

(@) AR fred & = o Al & =y # Ree

[ssue of Bonous shares is regulated under :

(1) Section 81 of the companies Act

{2} According to the provisions of SEB] Guidelines

{3) According to the provissions of Articles of Asscoation

(4] According to the proviscns of Articles of Association and SEBI
Guidelines

g AT F Frmm @ P B e &

(1) =T R & arw 813 aTgER

(2) N awr srh B s & nRuet $ o srgan

(@) umE Ffafre ot & sgEr

(4) urde Faftas i sEB! Rem MRy & wifay=t & erEr

Bonous shares are issued :

(1} Fullfilment of minimum subscription Amount

{2} When securities premium is collected in cash only

{3} When the value of current assets exceed the amount of the capital
{4} When paid up value of shares exceed the market value

29 P.T.Q.
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80.

81.

arrer e Frfe 2 ¥

(1) =gAoH e aier @ gff '

@) SRR W TR O FHes 8 WX

(@) v R @9 #oged IO/ S 8

(4) W= YT F FHA WoF TR GEd § G &

The final account of company is prepared in accordance with :

{1} Section 210 (2] Section 212

(3) Section 218 (4] Section 220
Hudl & i @R R o & SIgER S A 8 7
(1} w210 (2) =TT 212

(3) T 218 {(4) 4T 220

Window Dressing refers to :

(1) Showing pesition better than what actually it is
(2) Showing position warse than what actually it is
[3) Showing fictitions assets in the Balance sheet

(4) Providing depreciailon by way of deduction from the asset
concerned

gt SRfT fredy oefg & 2

(1) araias Ragly 9 ot Rafy Rarn

(2) aretrE Rufy B @ae REE

(3) F=wrv Huld =1 At fBrgd & R

(4] wetea Hufeq |§ =29 {Depreciation) &l FSTAT

30
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82. When the divident exceeds 20% of the paid up capital, the amount to

83,

84,

be transferred to reserves shall not be less than -

gzmiﬁ%zo%ﬁmmwnmaﬁ%wéaa?ﬁﬁﬁ%mﬁm

%ﬂﬁﬂ%&ﬁaﬂrﬁﬁrﬁmﬁaﬁﬁmﬁaa&mﬁaﬁm
(1) 15% 2] 12% 3) 10% (4] 20%
The dividend per share in a company is Rs. 2/- Earning per share is

Rs. 5/- and the market vaiue of share is Rs. 25/- what will be the
yeild ?

r:zﬁa#w?'frﬁamfmnﬁraimzﬁ.,nﬁ-rmrmﬂﬁsaEra"nra#sﬁfm

AR HeT 25 6. B IeqEspar Far anf ?
(1) 20% 2) 12.5%  (3) 8% (4) 25%

At the time of forfeiture of shares, share capital is debited with :
(1) Nominal value of shares

{2) Paidup value of shares

(3) Shares for wiich can money have already received

(4)  Value of shares for which can money have not received

(1) 979 819 Yo 97

(2) TEE Heg ¥
|T31.ﬁﬁafm%ﬁmaﬁ'?mﬂfﬁqﬁiﬁﬁﬁ?ﬁﬁ§r
() T Awr B9 o7 afae afEr g sl zd

31 P.T.O.
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85.

86.

87.

Find out the item which is not recorded in profit and loss .&ppmpriat‘mﬁ

Account of Company ?

(1) Development Rebate Reserve {2) Staff Gratuity Fund

(3] Dividend equlisation Fund (4) Profit of current year
B TRT BTN B WH-ERT Appropriation (FFREAST) @ A RLil
R =it ?

(1) aegie gE €93 A9 (2] @dEr I=gdr Ay

(3) SwiE AT @ (4) =g A W S

State the section which deals with the payment of remuneration to

the Directors of the Company ?
(1) Section 307 {2) Section 309

(3) Section 311 {4) Section 312

ol 3 PiRers & qrstys m aoe e ara A B 7
(1) ¥ 307 (2) ST 309

(3) =IO 311 .. {4) 9rw 312

The remuneration of the manager in accordence with the provisions

of section 387 of the companies Act 1956 shall not exceed :
(1) 8% of the net profit - (2) 7% of the net profit

(3) 5% of the net profit (4] 6% of the net profit
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According to section 205 (2A) of companies Act, is proposed diuidend
is more than 12.5% but not mare than 15% of the paidup capital
percentage of profit to be transferred to reserves is to be :

(1) 2.5% (2) 5.0% 3) 7.5% (4] 10.0%

Maﬁﬁmwzosiw%aﬁanaﬁmﬁﬁmw
iﬁﬁﬁzz.s%ﬂmﬁraﬁr—rls%ﬁﬁqﬁﬁ,ﬁﬁmnﬁmﬁm
U & gwqmaia s ?

(1) 2.5 uferyrr (2) 5.0 HfeEE

{3) 7.5 qfrwT (4] 10.0 uferser

Unclaimed dividend is shown on the liability side of Balance sheet
under the heading :

(1) Reserves and surplus {2} Provisions

(3] Current liabilities (4) Miscellaneous items

(1) Iy ofx d=y # (2] mfaeg=t &
(3] =g <R (4) fafR 72

33 P.T.O.
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90.

91.

93.

A company bought Assets worth Rs. 3,60,000/- and in lien issued
debentures of Rs. 100/- each at a discount of 10% . The number of

debentures issued will be :

waﬁqﬁf%a,&o.eoaaaﬁrmﬁrmﬁmmmﬁ 100 8.
uﬁm%muﬁama@ma{mﬂﬁﬁfﬂaﬁmiﬁﬁmﬂmﬁﬁ
g Erfl

(1) 3,960 (2) 3,600 (3) 3,000 (@) 4,000

If a share capital Rs. 10/- issued at discount of 10% on which full
amount has been called up is forfeited for non-payment of final call

Rs. 2/-. The share capital Account shauld be debited by :

(1) Rs.8/- (2 Rs9/- {3} Rs. 10/- (4) Rs.11/-
105, & F OF S Iunﬁéﬁaﬁm%ﬁﬁﬁfmw%aﬁ?
@rrﬁrﬁﬁﬁmgﬂ%%mﬁeﬁmmﬁzﬁ.aﬁmmw
ﬂﬁ%ﬁﬁmﬁmmmmﬁﬁmgﬁﬁuﬁﬁ%ﬁﬁm
T

{1} B%. (2) 9% (3) 10%. 4) 11%.

Which one ‘of the following in not a method of costing ?
(1} Marginal costing (2) Job costing

{3) Process costing (4} Operating costdng

34



93,

95,
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ﬁmﬁﬁﬁaﬁmé@aﬁqﬁq@%ﬁ%?

(1) #r=T v (2) Sit" @

(3) sfRarT AT ) (4) HERE @RE
Which one of the following is not a technique of costing 2
{1} Marginal costing (2] Standard costing
(3) Muitiple costing (4} Absorption costing
Frr & & 2 arm S@ieT @ qwdits wd L 2

(1) €M wrT (2) T T

(3) SEITEE &rE (4) AT TR

If maximum fead time is 15 days and maximum daily consumption of
materials is 500 units, Re-arder level of stock is ;

(1) 750 units (2) 7500 units
(3} ©00 units (4] 9000 units

aﬁﬂfmﬁﬁnmvﬁmlsﬁm%aﬁtﬂmﬁwemaq%ﬁzﬁ
mﬁwsoo‘szﬁﬁ%%,mwﬁmréﬁa@m:

(1) 750 geErgat (2) 7500 gepTEay
(3) 600 FwTEdf (4] 9000 wehrEHf

Earnings of the labour =

. .
[{Hours workedxHourly Rate) s (Time Saved) *Hourly Rate] in

under; :
(1} Rowar Scheme (2] Halsey -weir scheme
(3] Halsey scheme (4) None of the above

35 P.T.0.



15P/201/30{3)

ﬁgﬁmﬁ=(mmxnﬁra€rﬁ]+% (sraa wg) x

quer &%) e # -
(1) T=T @A () ¥eq - T O
(3) F= =W @) Iogea & & B @

96. Overhead is the sum of :
(1) Direct material and Direct labour and Direct expenses
(2) Direct cost and Indirect cost
(3] [Indirect material and Indirect Labour and Indirect eXpenses
(4} Standard cost and Marginal cost and Process cost

Fer & Te® ARt A Suiter wEG ¥

(1) g TRl ST weme mergdt i weuE S

(2) SEH QF ST W

(3) JToeaE G ol o oo ST ST FH
(4) _mw@wﬁmwaﬁn%w

©7. There are three elements of cost they are :
(1) Direct Materia), Direct Labour and Direct expenses
(2) Indirect Material, Indirect Labour and Indirect Expenses
(3] Material, Labour and Overhead
(4} Material, Labour and Expeses
A B a4 T e ¥, 7 ¥
(1) W |, Seaw gergdl AN oww =
(2) ST qHl, I Fegd i oTveer =9
@ wrnh, wogd ol sufem
(4) @rEl, Tegl ot =™

36
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Previous year for the Assessment year 2014-15 is .

BT Prafvor o 2014-15 1 e wore @b -
(1) 2012-13 (2) 2013-14
(31 2010-11 (4) 2009-10

Mr. A was present in India during the previous year 2013-14 for 59
days. He was also present in India for 330 days during the preceding
three previous years. For the previous year 2013-14 he js -

(1} Resident and Ordinarily Resident in India

(2) Resident but Not-ordinarily Resident in India
(3) Non-Resident

(4) Non of the above

Fﬂrcqnqaﬁ'zma-mﬁsgﬁa‘r%ﬁt:wﬂmﬁ%manﬁ
3 gt ﬂwsaoﬁ#%ﬁﬁmmﬁﬁrwﬁzms-

100. Additional Depreciation is allowed on :

(1) Qld office eguipment

(2) New factory Building

(3) All plant and Machineries

(4) New plant and Machineries mean for pr;:uduction purpose

37 P.T.O.
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afafea | 39 B -

(1) R wEEE % SR T

(2) v wEEET wEA TN

3y @ @e gg wdEd 9

() W@ﬂﬁﬁﬁﬁﬁﬂﬁﬂﬁﬂhﬁ?mﬁaﬁw

101. Gains from sale of furniture is treated as long-term capital Gains, it

period of nolding :
(1) is 45 months (2) is more than 12 months

(3) exceeds 36 months {4) not exceeds 36 months

W%Wwwaﬁaﬁaﬁ%ﬂawm%wﬁaﬁ
e & el -

(1) 45¥B & (2) 12 T § T ¥

(3) 36 98 § wEr ¥ (4) 36WE & vora wE B
102.The alternative to cash basis of Accounting is called ------- basis of

Accounting :

(1) Receipt {2y Due

(3) Credit (4) Accrual

% .

(1) Wi 2) =9

(3) @hiEE (4) drEwad

=

38
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103, The -~—---- records all daily transactions of a business in the order in

which they occur. _

{1} Ledger | (2) Account

(3) Journal (4) Trial Balance

T AR % g & dd i o), P sr Sy gy s . i feren
AT B

(i) Eaeer (2) @aT

(3) ASTTHET (4) TagT ’

104. Recarding the transactions and events as and when they occur and
classifying them into suitable account heading is the subject matter

Y —
(1] Financial Accounting (2) Book - keeping
(3} Cost Accounting {4) Management Accounting
%ﬂ%ﬂqﬁmﬁmm%ﬁﬁﬁ,é@mwﬁhﬁmﬁﬂ
TG T .. FI g\ &y 3
(1) fa=fmr enaism (2) YR
{3) TN FEET (4} T i

108, Revenue in generally recognised at the poaint of sale, Which concept
is applied ?
{1) Consistency (2) Marketing
(3) Realisation (4) Cost

Wﬁww:ﬁmﬁﬁwaﬁﬁmﬁﬂ—#m
MY Eeh B 7

(1} FrioEr (2) Ferger

(3] =gt (4}

38 ' P.T.O.
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106. Accenting of a small calculator as an expense and not as an asset in

due to ---------convention,
(1) Materiality (2] Disclosure
(3) Constantly {4) Conservatism
U Y IOTH W AU & 99 =4 B TY H AW .eenaen qiRarél
% ofenta FRaT S By
(1) HAfEE (2) EIsSiEmT
13y WETn (4]

107.As per dual aspect concept !
{1) Assets = Liabilities - Captial
{2) Assets + Liabilities = Captial
[3) Assets + Capital = Liabilities
(@) Assets = Capital + Liabilities

Faroer QU & STHI :
(1) waferdl = S - OO
(2) dafet + afe = OSH
(3) dufedf + goft = it
(4) wokadl = gof + TfEE

108. Cost of goods purchased for resale is an examnple of :
(1) Defered Revenue Expenditure
(2) Revenue Expenditure
(3) Defered Capital Expenditure
{4} Capital Expenditure
g & Ry & i AT A AT L T W IETET ¥ |
(1) = ARH =29
(2) SR B89
13} TN AP =Y
(4) T =

40
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109.Rs. 5,000 spent on replacement of worn out part of a machine mill be

110.

111.

charged as :

(1] Defered Capital Expenditiure
(2) Capital Expenditure

(3] Revenue Expenditure

(4) Defered Revenue Expenditure

T "ef & QU g9 & F3@ 9¢ AT T 5000 . W F9......
.3 g oAt ST |

(1) == gofr == (2) Goirm =

(3) AT =9 (4) effra 3FH =9

Amount spent on renewal of a licence is :
{1} an asset ‘

(2) a defered revenue expenditure

{(3) a revenue expenditure

{4) a capital expenditure

OF AEST & T 97 =9 ) T g9 B o

(1) = wafe (2} oF Wi e &g

(3) TH ATH =9 (4) T YT =g

Which is the accounting concept that requires the practice of credting
closing stock to the trading account ?

(1] Matching (2) Cost

(3] Going concern (4) Realisation

a2 HH-w JEiHT FEuen § Rras wEr Jfe weimr @ g
UFa—~ H e T s Sar B 7

(1) gAeA (2) @
(3) TEq e (4) TG

41 P.T.O.
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112. The economic factors causing depreciation are :

(1} Wear and tear (2) Passage of time
(3) Depletion (4} Obsolescence
BT I~ A Al AfE v € o
(1) TEEmEE (2) HHIETHEA
(3) TLERi=RToT (4] ST

113. Accumulated depreciation is an example of :
{1} An expense (2) A contra account
(3} An unrecorded revenue (4) A liability
(1) =™ (2) eI =
(3) wfaiEa srm (4) I

114.The appropriate method of depreciation to be adopted in case of
livestock is :

(1) Retirement method (2] Depletion method
(3) Appraisal method (4] Inventory method
AT & w9y ° g2y e & I mfy L B
(1) TmrEia ffy (2) Py fafy
(3) Heafaier [ (4) dafer g=h fafg

115, Sales are equal 10 :
{1) Cost of geods sold + Gross profit
{2} Net profit + Cost of goods sold
{3} Cost of goods seld - Gross profit
{4} Gross profit - cost of goods sold

42
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o avET 2 B

1) PRepm awgsit & @va + gaa are
(2) 9= W + [T awgaft & arE
(3) fembi axgaf it IFTT - debel @TH
(4) A a9 - RBeeg awgsit & are

116. Goods given as sample should be credited to :

(I} Purchases Account {2) Sales Account

(3] Purchase Returns Account (4} Advertisement Account

TIH & w9 F & I Al aRgat & ffrw fear s L. art
7

1) &9 (2) fe=rg

(3} I arqEt 4) e

117. Which one of the following is correct ?
(1) Gross profit + purchases + sales = Net Profit

(2) Gross profit + Purchases + Administration and other Expenses =
Net Profit

{3} Gross profit - Administration and selling Expenses = Net Profit

(4} Gross Profit + Sales + Administration and other Expenses = Net
Profit

frafofae & & #=-ar wdl & 2

(1) o9& @rH + 9 + g - g @

(2) EH TN + WY + UAHGTH UG T = = JE WA
(3) Wehel TN - uImEtTR TF fERg & = 9rm @

(4) FFT TA o+ g + ysnEe 9F o @Y = g Wy

43 P.T.0.
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118. Royalty Account is :

(1) Personal Account (2) Real Account

(3) Nominal Account (4) P& L Account
FHfHT - g6 @T B

(1) SRR ST (2) aArEfaE @
(3) IHAE @ (4) -8 T

119. Shortworking Reserve Account Opened in :
(1) Lessor's Books (2] Lessee's Books
(3] Sub Lessee's Books (4) Lessor's and Lessee's Books

g Hug A @en A

(1) geareran @ gevR &

(2) UgREIX W gEreRl ®

(3) S9-UIAT HW gErH H

(4) TSI quT Rl @ gEl A

120. Shortworking recoverable in futrure is shown in the:
(1) Dr. side of Profit & Loss A/¢
(2} Cr. side of Profit & Loss A/c
(3) Cr, side of Trading A/c
(4) Assets side of Balance Sheet

wRren F el g wgmd iR R g SE R oo
(1} @rH-s @ 3 2T gw #
(2) Frg-THT @Y B e ow
(3) =W @ F BfET g8 7

4 Fr2 & gufa ou F
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121. Nazarana Payment is :
(1) Capital Expenditure
(2) Reveneue Expenditure
(3) Deferred Revenue Expenditure
{4} None cf these

TSAT YA B
{1} Yo = (2) ST =g
(3 wfg s =™ (4) FH | HE wlf

122.Journal Entry made for irrecoverable Shortworkings in the books of
lessee :

{1} P&LA/cDr. /To Shortworkings A/c

(2) Shortworkings A/c Dr./ToP& L A/c

(3] Landlord's A/c Dr./To shortworkings A/c
(4] Shortworkings A/c Dr./ To Landlord's A/c

| UETT %I gErRl 7 s aged o s 9w wake @
(1) #ra-ei= & w7l aged aor |
(@) sg=mE e =R AE-E ' e |
(3) WAl =1 wRT weNagEd 'mr 9
(4] FYHE TR FE/GATAE AT GEaE B o=

123.The Sale of Goods Act' is mot applicable in :

(1) Cash Purchase System (2) Credit Purchase System

(3) Hire Purchase System {4) Instalment Payment System
‘o Prra st sy @t & B |
(1) #% »9 T=ia & (2) IUTT &Y =i o

(3) FhTET HE TRy (4) T gom o=y ®
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124, The base of calculation of interest in Hire-purchase System is :
(1) Cash value of the asset
{2) Hire-purchase value of the asset
(3! Market value of the asset |
{4} Residual value of the asset

Trerar Ha gafy # @ B T S ene Bler B
(1) =i = % go9 (2) Hrgice 1 R B9 Tea
(3) & & qE g (4) Tl & sEdw g

125, From which year Hire Purchase Act is applicable ?

Frorr &g arfafyaw fem ad & @ & 7
(i 1932 2] 1956 (3) 1972 (4} 1872

126.1n Instalment Payment system the payment of the goods is done :

{1} Monthly instalment (2] Helf vearly instalment
(3} Yearly instalment (4} Periodic instalment
fred qroE wafa 7 awg & Jew @ A S g o

(1) mfaw Frat o (2) et el #

(3) s fEpeat # (4) wEEEE Bt A7

127.Under Instalment Payment System, if the buyer fails to make its
payment, the Vendor can :

(1} Charge Interest (2] Sue the buyer for Payment
(3) Repossess the goods (4) Any of these options

REET s gl & aveente, afd & far gof e e & argwe
T &, 4t fashe & wwar ¥

(1) = a8 ggeh (2) &l 9T e B g &
(3) W & FIE Wi (4) &TH | g o
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128.Will not be included in branch account .
(1) Cash Sales
(2] Closing Stock
(3] Goods retuned to the Head Office
(4] Bad Debits
oeEn @y § giafera g e o
(1) == femmy (21 HOR Ty
(3) HET HAEE FH A A (4) e R

129.1n Foreign branch accounl, the value of which of the following items

is converted inLa average exchange rate ?
(1} Building (2] Machine

(3) Revenue (4] Debenture

fs s @l # Freriem @ # R s o ofma R =
# qitadiea fem smm- & ¢

(1) &+ (2) w9

(3) R A% (4) FOTIH

130.Branch Adjustment Account is in the nature of

(1) Real Account (2) Nominal Account
(3) Personal Account (4] None of thesg
T HAEH | @t T BT B

(1) arEis @ B (2) A @ B
{3) =afFTTE = Al (4) =9 § g FqEl
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131. Goods will spoiled will be shown, while accounting record of dependant
branch in H.O. books in :

{1) Branch Account (2) Branch Debtors Account

(3) Memorandum Stock Account {(4) Branch wastage Account

Uy HAted i gErERt § onida e Sl SEied w99
T U A W REmEr SR o

(1) emar =mEr (2) smEn FEE Wi
@) T T T #§ (4) «mEn &g R H

1
132.A Branch normally sold goods cost plu333§%i In the year 20i4-15

the branch sold the goods of ¥ 1,50,000. Cost of goods sold by branch
will be : '

UF §TET " A e o 33%% Y AT o1 ey el &

e A ¥ 2014-15F € 1,50,000 @ 919 g Bear sm@T &
R "&r S @m BRT

(1) 7 1,00,000 (2) 71,12,500

(3] % 75,000 (4] T1,75,000

133.Balance of Departmental Profit & Loss will be transferred :
(1) In Trading Account
(2) In General Profit & Loss Account
{(3) In Balance Sheet

(4) In Profit & Loss and Appropriation Account
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e are-ei= ST § 919 1 eT=Teer 2n s

(1)
(2)
(3)
(4)

9T @rar #

HAHT ATH-aI e §
Rrger (Refer-faeon) &
av-g1f ot s @ &

134, Under which ratio one component is converted in one ?

(1}
{3)

Profitability Ratio (2) Financial Position Ratio
Activity Ratio (4) Sales Ratio

frm orqum ¥ ww orgme sk F ol Bem smer & 7

(1)
(3)

ATHETIRAT A (2) =i Rafer s
ERIEIS R o) (4) T spaE

135. Return on Investment (R.0.L) in ratic befween --------- ,

(1)
(3)

Net Profit and Capital Employed (2) Sales and Profit
Sales and Capital Employed (4) Assets and Liabilities

TAFET O I . S R e F

(1}
(3)

= oy o fafrafse St 2 Ref o s
Rt ad Rfaifse gof (4 w=fe ud wfae

136. Current assets inchide

(1]
(3)

Goodwill (2] Furniture
Debtors and Prepaid expenses (4) Imvestment
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ae gfagt § Attt & B o
(1) T (2) T
(3) AET ud gEEe A (4y fafaar

137. The term 'Fund' as used in fund (low statement means :
{1} Cash (2) Current Assets
(3) Current liabilities

(4) Current Assets - Current liabilities

Frg-yae e $ or=ria ‘e gt F e 2w ¥

{1y UwHg (2) = EegferEt

(3) = I ' (4) =g SRt - o9 s
138. Which of the following is not the source of cash :

(1) Parchase of fixed Assets (2| Funds from Operation

(3] Issue of Debenture (4) Sale of Fixed Assets

Frfafege § 9 Os i o Wél & 7
(1) et geafaat oy (2) wEEE § (BS) 9™
(3) oA B e (4) R aegfedt s

139. Which of the following is not the application of cash ?
{}) Inerease in outstanding expenses
{2) Increage-in prepaid expenses
{3} Increase in Inventory
(4) Increase in Bills Recivabie
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Frefeifem & @ O%s & ggaa &8 98 B 7

(1)
(3)

35T =4 ° ghs (2) gd== =34t § gfes
g # ghe (4) wrm fa@ # gig

140. Cash from operaticn is equal to :

(1)
(2)
(3]

()

Net profit + Increase in current Assets

Net profit + Decrease in current liabilities

Operating profit + Adjustment of current Assets and current
liabilities '

Current Assets - current liabilities

I 8 s F 9997 8y & -

{1)
(2]
(3)
(4)

= @ + IRy wfear § gfs

= AT + =g FaEt # e

HA AT+ = weRadl e g et B e
Y, TR - Ay i

141. Operating performance i1s best measured by the rate of return on ;

(i}
(3]

Shareholder equity (2) Fixed Assets
Total Assets (4) Current Assets

d=red TAwrea w1 gds= a9 aw usmg = @ BRAT wEr &

AT .

(1}
(3}

(1)

AT gHe (2) & i
[ HFHE (4] =G T
142, A low stock turnover indicates : ,
Over investment in stock (2) monaopoly situation
Salveney position (4) Fixed Assets position

(3)
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ue e @ ad gus 8 o
(1) e & sy RfEeT @ (2] uwmTErEmT @ fafa @

(3) wirasr R @ (4] TR gy # Ry o
143.Captial employed is equal to : : _

(1) Total Assets (2) Total Assets - Total liabilities

(3) Working capital (4) Fixed Assets + working capital

o T gl FvET Enft B -

{1} FHA TR (2) @ﬁﬁﬂiﬁ'ﬂ—@!mﬂw

(3) st goft () W i + wadE O

144.1f the operating ratio is 79%, the net profit ratio will be :

oy e S 79% ¥, @Y R AT STUE B
(1] 100% 2) 179% (3) 21% (4) 97%

145, Interpretation of financial statement requires :
(1) Analysis and comparison
(2) Simplification and stendardisation
(3) Objectivisation and speciﬁc&tion
{4) Moderisation and liberalisation
focim faeer & s # ongsaean 2l 8 ¢
(1) Tassum o ge= {2) VLRI OF AT
(3) SIEETs o falrewr (4) ST Te IR

146.Trend ratios and trend averages are used in ;
(1} Vertical Analysis (2] Herizontal Analysis
(3) Static Analysis (4) Average Analysis
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ggfe ST @en Hgfer ofrad 1 ST BT B -

(1] o= RAyeraor (2) BT feresaer
(3) *&faes FAserer (4) Iraa e
147.When total of sources side is higher than the total of uses side, the
effect is :
(1} Profit from operation (2) [Increase in working capital

148.

(3) Decrease in working capital (4) No change in working capital

& WG F A6 I AN 9 F GIF B AT A ofE Sar 2, o
TR B E

(1) Ham= 9 &y

(2) wridhe 9ot F ghx

(3) @rdsfter goit & @il

(4) LS g0 & i afgds =

Debentures of ¥ 10,000 with issued at ¥ 9,000 to public only subscribed
and peid will create :

(1) Inflow of cash T 9,000 (2) [nflow of Cash ¥ 10,000
{3) Out flow of Cash ¥ 1,000 {4} Out flow of cash ¥ 9,000

ST 1 Feifi @ geem 210,000 % o9 @1 ¢ 9,000 X el
o B

(1} 9,000 =¥ UFHT I 9B

(2) ¥ 10,000 &H TUFT L 9619

(3) 71,000 = UHS T BT

(4) 79,000 H UHE IR BT
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149.[ssue of bonus shares would be :

{1} Sources of cash [2) Uses of cash

(3} No effect on cash (4) Effect on working capital
A9 SFw FEEE & e o _

(1) Twe o &=\ 2) T®Hs &1 990

(3) Vhs 9T HIE GG T (4) AR gstt qv gwe

150, When financial statements for a number of yeras are reviewed and
analysed, the analysis is called :

(1} Internal analysis I2) External analysis
(3} Vertical analysis [4) Horizontal analysis

wg wE ant & facha Redt @ qarieeT g Restaor R o 3,
A 3y fasdaor B Faa B

(1) Swaiis [yaaeer ' (2} T Rrssmor
(3] w=ag fasamor (4] AfersT Fredmoy
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ROUGH WORK
T &g
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vt & forg Frdw
(F [IT & TR JTTVT Q5 OV AA IG-09 & I g @w
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Fo YHo Ao ¥ GT Sywwim WEw, TFIYRAET www @ ST WA (o S 8 e

WWW silr swto we wwo aw wEAT HT DA ¥ I 57 sy
)

vy wfial F wiY o oftedT S§ PR o sy AT S0y 09T oy % Sy

AIGT W FUNT QAT MR

¥ - g F e ey & ure dfedw gwe A8 7@ 1 mRw wET & detew 3wt & g
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¥olE WY & T (A G 0 § W 6 e w0 § A g6 9 o s w

T YA TF g9 B AU WA W A€ TR e G T

tqtT & fon T W =y G Sfew T oo 7 o wwr b1 w30 et AR W e

T 377 Wyt &, 2 wfafer o dy v 1o ot et o e oy 41 99 T T g

N Fo% wr
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T TS B & SEe TR WA § e A F S A wen

afE =g sl wien § sfew qvAl @y & 4, A 9 Arvefem oo AeiE
g8 /A, it S



